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e Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  This question paper contains three parts A, B and C.
(ii) Part A is compulsory for all candidates.
(iii) Candidates can attempt only one part of the remaining parts B and C.
(iv) All parts of the questions should be attempted at one place.
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PART - A

(WTEER GHT 941 HHrrat & forg s

(Accounting for Partnership Firms and Companies)

1. 79 WEERI @i g R & 9 UF 9EeR 51 5T 0 A0 & o sl w2 1

When the partner capitals are fixed, where the drawings made by a partner will be
recorded ?

2. V4 fowHM SRRl % SR SO ¥ URedd T € ot o gEiadl SR dEema &
TR T T 39 Bl H o s | fenaifor wet & 2 1

State the ratio in which the partners share profits or losses on revaluation of assets and
liabilities, when there is a change in profit sharing ratio amongst existing partners ?

3. 39 @/ & M FaRd A UF UHER $ §g W I §g & &7 7% & AN F 79 B 395
TSl @A | STH A F [0 GieAt e & | 1

Name the account which is opened to credit the share of profit of the deceased partner,
till the time of his death to his Capital account.

4. T % S W T F T TRt Se ST % T 60,000 % Fwrw 3 e
st S, 7t S5 o P 2 e & | G H o, oo AT S A9 SRR 1

Give the j_oumal entry to distribute “Workman Compensation Reserve’ of ¥ 60,000 at
the time of retirement of Sajjan, when there is no claim against it. The firm has three
partners Rajat, Sajjan and Kavita.

5. “wiavfe sifegs’ 1 a1 a9 £ 2 1

What 1s meant by ‘Securities Premium’ ?

6. % w3 s e T AR e b s e e T s
YA FAl € 2 1 1

What rate of interest the company pays on calls - in advance if, it has not prepared its
own Articles of Association ?

7. WHUIES Wioqia % ¥ § HOTGE % T 147 awead g € 2 -1

What is meant by issue of debentures as a collateral security ?
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8. W Fyem @wr fidw wE Y ¥ WERR £ | @ ad @ y@% 7 T 50,000 § F w9 A
i fRa | Fem o ST ¥ S € % HRYT 39 999 e S 1 S 3
¥ fore wewa & T ot | fora o At % & A T 15,000, T 25,000 74T ¥ 50,000 & |
HEHT T T FT FAAFT T W, WA B WA g H A 1 : 12 F FIA A
fasfore o T & | 3 fawg o o 39R e ® @A @ at e 7 s oo 9w
AN F @A S & A IH S o9 e SIfeT | 9 WeHd Tel g% a9l 98 Hved
fear T T ot = ot i At | SrER-aTe] IS e S | _
@0 T, fren g e # e T 8 AevE U $H & oY SEEeE g

Fia |

@ S qed F T S i e 3 o e % wea @ S | 2+1=3

Mona, Nisha and Priyanka are partners in a firm. They contributed ¥ 50,000 each as
capital three years ago. At that time Priyanka agreed to look after the business as
Mona and Nisha were busy. The profits for the past three years were I 15,000,
Z 25.000 and ¥ 50,000 respectively. While going through the books of accounts Mona
noticed that the profit had been distributed in the ratio of 1 : 1 : 2. When she enquired
from Priyanka about this, Priyanka answered that since she looked after the business
she should get more profit. Mona disagreed and it was decided to distribute profit
equally retrospectively for the last three years.

(a) You are required to make necessary corrections in the books of accounts of
Mona, Nisha and Priyanka by passing an adjustment entry.

(b) Identify the value which was not practiced by Priyanka while distributing profits.

9. 2 100 WE® % 1,000, 7% ForwE frie & fog Frefefen akfefaat & smeeas o
yfatear T
(30 T $0 difs w, v 10% SiiEEs ®) |
@ 5% 98 W, T I W ' 3

Pass the necessary journal entries for issue of 1,000, 7% Debentures of X 100 each in
the following cases :

(a) Issued at 5% premium redeemable at a premium of 10%.
(b) Issued at a discount of 5% redeemable at par.

10. T T fEmeT F T 100 vE=F F T 5,00,000, 7% TR S A 10% wifEEs

T BT 9T, 37EE 9 & | YT F VAt % AR, FE 3 SR § § 30% O # T 50
TR ¥ v F 20% Wit ) it s 9iadT ) e R | e SRR
fefiree &t g § FOTTEl & Ve S waredr Hiag | 3

Taneja Constructions Ltd. has an outstanding balance of ¥ 5,00,000, 7% debentures of
Z 100 each redeemable at a premium of 10%. According to the terms of redemption,
the company redeemed 30% of the above debentures by converting them into shares of
Z 50 each at a premium of 20%. Record the entries for redemption of debentures in the
books of Taneja Constructions Ltd.

67/1/1 3 [P.T.O.

collegedunia:

India’s largest Student Review Platform



11. 3% O 991 U ®F | 9I3RK € | 38 oa9 $ BF & o9 | 1/4 907 F [0 WERR 9967 |
A0 o # T % w9 F 969 T 2,00,000 AT | 39 T BH S 9t gmieat w1 9o
% 5,40,000 791 ST 333 FM T 1,00,000 TN T | 969 & YAV & 99T &G & @i
I WG HITT | AT HEBRT ol Fi o 9y | 4

Abhay and Beena are partners in a firm. They admit Chetan as a partner with 1/4"
share in the profits of the firm. Chetan brings ¥ 2,00,000 as his share of capital. The
value of the total assets of the firm is ¥ 5,40,000 and outside liabilities are valued at
< 1,00,000 on that date. Give the necessary entry to record goodwill at the time of
Chetan’s admission. Also show your working notes.

12. %91, 26T AR 9o QERR € A o ® S5 : 3 : 7 F IuE A foenfeia A € 1 1 30,
2012 i T A FH F HTHE WU T & [0 AT Far | aT a9 3wew 3 o S wias
q 2 : 3 % U | famisia w3 &1 Foig o | Sfas aon sreem & aamaifee O @t & 9w
A T 33,000 791 % 70,500 & | T F FA T 90,500 H A AT AT A1 | 37 AT F
TIAH Sfae a9 JeH 7 39 THR HA1 91 & 376 O @t & 99 396 oY fauee & .
AT H B A | BH B R § SRS oAl $ [0 SNEvES AEHET Wiafear Siew |
A9 FE feun T ey | 4

Naresh, David and Aslam are partners sharing profits in the ratio of 5 : 3 : 7. On April
1¥, 2012; Naresh gave a notice to retire from the firm. David and Aslam decided to
share future profits in the ratio of 2 : 3. The adjusted capital accounts of David and
Aslam show a balance of < 33,000 and ¥ 70,500 respectively. The total amount to be
paid to Naresh is ¥ 90,500. This amount is to be paid by David and Aslam in such a
way that their eapitals become proportionate to their new profit sharing ratio. Pass
necessary journal entries for the above transactions in the books of the firm. Show

your warking clearly.

13. m%ﬁa#ﬁm%mm%mqwtwﬁmz 80 T & THAT 39
% 5 Wia 3w /g W i 62 | %9 559 ¥ 15,00,000 91 | SwiaEl UE Jiided EER 4
@  5,00,000; 2% T 7,00,000; @iear % 3,00,000; weRI T 6,00,000 T fafay sww
% 5,00,000 & |
s feftrde et 3 S SR 3 o S e vt F :
Madhav Ltd. issued fully paid equity shares of ¥ 80 each at a discount of ¥ 5 per share
for the purchase of a running business from Gupta Bros. for a sum of ¥ 15,00,000.

The assets and liabilities consisted of the following :
Plant ¥ 5,00,000; Trucks ¥ 7,00,000; Stock ¥ 3,00,000; Machinery ¥ 6,00,000 and

- Sundry Creditors ¥ 5,00,000.
You are required to pass necessary journal entries for the above transactions in the
books of Madhav Ltd.
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14, e fefies i s Goft € 45,00,000 41 St R 150 W% % 30,000 3w ® fonyaey @t |
=i & FEE 3 T 150 5= % 15,000 3w H T 10 v st s w e e
ﬁﬂﬁﬂ'ﬂ&ﬂ@r: '

e T 2 50 R 3in, e W T 40 i 35 (s Sie) T 30 wia 379 g IrE ) ad
S ST ATEET 9 | ST 3 14,000 39 & o s e | Wt et we @ e |
STIE GEeT F T §T GEMl fares W HEE S 1956 = gfwitaa |iRon VI
ﬂm-l%aﬁmfmﬁr—faamﬂwﬁmaﬂhqwaﬁ#m*M%m fad | 4

The authorized capital of Suhani Ltd. is ¥ 45,00,000 divided into 30,000 shares of
% 150 each. Out of these company issued 15,000 shares of ¥ 150 each at a premium of
Z 10 per share. The amount was payable as follows :

Z 50 per share on application, ¥ 40 per share on allotment (including premium), < 30
per share on first call and balance on final call. Public applied for 14,000 shares. All
the money was duly received. '

Prepare an extract of Balance Sheet of Suhani Ltd. as per Revised Schedule V1 Part - |
of the Companies Act 1956 disclosing the above information. Also prepare ‘notes to
accounts’ for the same.

15, areh, Fawer oo 4% UF %4 ¥ WERR € | 1 30, 2011 . 398 G @Al & A9 HE:
7 400,000, T 3,00,000 71 T 2,00,000 & | F 5302 % U H AM-EI faite e
q mlskrﬂﬁﬁaﬂ?mﬁa@mﬁww%aﬁﬁaﬁﬂﬁmmmn,omwﬁ
o F FE . 3.000 T fmmel a6 I % SR € |

farmret 3 et A7 e (U T S SgT adl I i Wiierd ) FH H HH T 50,000
oy o anvartad € | HiE o FHH A reataa T § e SEwt gfq <iuw g @ S |
31 T, 2012 F TG € Tt a9 H @ T 2,00,000 @1 | 31 A, 2012 S T §C a9
¥ for o =1 e-ai e @ GaR ST | 6

Ali, Bimal and Deepak are partners in a firm. On 1** April, 2011 their capital accounts
stood at Z 4.00,000, ¥ 3,00,000 and ¥ 2,00,000 respectively. They shared profits and
losses in the proportion of 5 : 3 - 2. Partners are entitled to interest on capital @ 10%
per annum and salary to Bimal and Deepak @ ¥ 2,000 per month and 3,000 per
quarter respectively as per the provisions of the partnership deed.

Bimal’s share of profit (excluding interest on capital but including salary) 1s
guaranteed at a minimum of X 50,000 p.a. Any deficiency arising on that account shall
be met by Deepak. The profits of the firm for the year ended 31% March, 2012
amounted to Z 2.00,000. Prepare Profit & Loss Appropriation Account for the year
ended on 31* March, 2012.
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16. quT, W 91 SHifas S @ F 3 : 3 : 4 F UG F fFaRa @ 2, F 31 96, 2012 B
eerfer-feraroT e o -

31 =T, 2012 St F9E ¢ a9 Fi famt A 2 4,00,000 o 7w 1 3w ¥ 30 S
2012 % X 1,50,000 &t 1 31 |1, 2012 Ft TS §C 59 F & T 1,00,000 &7 |

(®) 5ft 9T 6% A +t 3T | = frar s
() - o i &t 1 i o T 42,000 91 |

6
The Balance Sheet of Sudha, Rahim and Kartik who were sharing profit in the ratio of
3:3:4 ason 31% March, 2012 was as follows :
General Reserve
Bills Payable
Loan Investments
Capitals :Sudha : 60,000 Land & Building
Rahim : 50,000 Sudha’s loan
Kartik : _40.000
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Sudha died on June 30™ 2012. The partnership deed provided for the following on the
 death of a partner :

(a) Goodwill of the firm be valued at two years purchase of average profits for the
last three years.

(b) Sudha’s share of profit or loss till the date of her death was to be calculated on
the basis of sales. Sales for the year ended 31° March, 2012 amounted to
Z 4.00.000 and that from 1% April to 30" June 2012 to ¥ 1,50,000. The profit for
the year ended 31* March, 2012 was X 1,00,000.

(c) Interest on capital was to be provided @ 6% p.a.
(d) The average profits of the last three years were X 42,000.

() According to Sudha’s will, the executors should donate her share to “Matri
Chhaya — an orphanage for girls™.

Prepare Sudha’s Capital Account to be rendered to her executor. Also identify the
value being highlighted in the question. |

17 e S S 2 10 TR&E ¥ 75,000 39 F 10% 5 W A F o e ami
CUNEIRTISIE ) 7RG 4
aﬁﬂwtznﬁm,mwtsnﬁmmmwunﬁrml
o 1 1,50,000 391 F AT AETT W g | e FEAER g
(30 15,0003 # 2EEH 5,000 39 e 5 ™ o
@ 70,000 ¥ % T F 40,000 3w e fHE T
) S A T 30,000 W AERA PR T 1
e § S T S & T | & R 3500 3 % o e oA & qun gy A |
oo on, S AT AT T T S § Sraed @ | e 3,000 S e
Rt T & 3 e T B AR 3 % w9T 8 e | T ot gu S | gt o |
T F TR § SRS SRl % (o JorE Hafeat Hitg | 3T HEHAT ool Hi
o< &9 | TEerd | 8

AGA(
Rrffas SR & aeil % T A A TR F wane S -
(31) UuEw fefReE 4T 10 7% % 20 379it T waT T for fe o7 St 9 T 7 5

S AT 7 5 W 31T SAE AT e WX YA R T A | T | 15 39 W H
7 8 Wl 3791 % AR W T 7 Wi 3 vew w9 § g Frifva w0 RE T
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@) o fameE 3 T 10 v=% % 90 3991 it f59 w T 8 1t 7w & e fwe frfes 2 2 wfg
39T UiEs W AR @ T w9, T 5 ufa 3w @ aees ufe oiifaaw afed) @@
YA 7 H FFA & HROT o T (o1 | T00 | 80 390 1 G &t T 10 wiey 3iwn,

% 8 rtea #if I/ G i w5 g mar

@ = ol 3 T 10 vl % 300 3 w5 fer Feis T 1 wf sier 2 97 fear o
% 3 Ui 39 & WIW TS AW qreEn T O T a8 9 Sed &7 e | 9 F 200
31 T 3 wid 3791 Ut e g Fita e R |

Moneyplus Company issued for public subscription 75,000 shares of the value of T 10
each at a discount of 10% payable as follows :

< 2 per share on application, < 3 per share on allotment and ¥ 4 per share on call.
The company received applications for 1,50,000 shares. The allotment was done as

under :

(a) Applicants of 15,000 shares were allotted 5,000 shares.
(b) Applicants of 70,000 shares were allotted 40,000 shares.
(c) Remaining applicants were allotted 30,000 shares.

Money in excess to allotment was returned. Hari, a shareholder who had applied for
3,500 shares out of group B failed to pay allotment and call money. Rohan, a
shareholder who was allotted 3,000 shares paid the call money along with the
allotment. Rohan also belonged to group B.

Pass necessary journal entries to record the above transactions in the books of the
company. Show your working notes clearly.

OR
Record the journal entries for forfeiture and reissue of shares in the following cases :

(@) X Ld. forfeited 20 shares of ¥ 10 each, ¥ 7 called up on which the shareholder
had paid application and allotment money of ¥ 5 per share. Out of these, 15
shares were re-issued to Naresh as ¥ 7 per share paid up for ¥ 8 per share.

(b) Y Ltd. forfeited 90 shares of ¥ 10 each, T 8 called up issued at a premium of ¥ 2
per share to ‘R’ for non-payment of allotment money of ¥ 5 per share (including
premium). Out of these, 80 shares were re-issued to Sanjay as ¥ 8 called up for
< 10 per share.

() Z Ltd. forfeited 300 shares of T 10 each issued at a discount of ¥ 1 per share for
non-payment of first and final call of ¥ 3 per share. Out of these 200 shares were
reissued at < 3 per share fully paid up.
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18. et @ fafirer v v H WRRR § | 3 T e 2 | % oo § wa € | 3
£ faftre &9 ¥ 3 €, 3 w375 T 319 3T SR 6 Hied 8 o € 1R A,
s S = B & T e w0 i fern | SRR 1/3 W % o iR @
AR ST | 9 A9 T $ e aun At ge e o | TRy % WY % 99d

(3n) TEd & e T 5,000 SeE ST |

@) WAL T10% ST ST S 4 HeR 5% g < |

(@) ¥R A T 3,000 A HE | i it 3 F 3R W 5% 1 S FEE |

@) P e gediE < 45,000 T T

Wmm,w@mﬁtﬁmwgﬁﬁaﬂw‘w-mmm | W |

Tuife fFd T e S TS ST | 8
Srerat

oreit. fefereet o ST U W H WERR of St e S5 c 3 2 ¥ U | foiaa
of mﬁm&ﬁaﬁmﬂwaﬁﬁmﬁﬁwémﬁmﬁm%ﬂwaﬁﬁﬁm@ |
31 T 2012 Ft TEEE F ITH FH F FHGT BT AR [ | Tt S GETadl & [oshd adl
it & ST 1 BT T | S qea o o 39 R 1,000 e faerm |
%1 o fefer FergaR 4t |
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TR AR B, S ol srafertaa & g ar, Ri 3 2 3,000 3 & o | sl =
X 8,000 it &fagfa =t ¢ |wiﬂmm}mﬁﬁaﬁrﬁwﬁﬂﬁmwm | et =T

T | THiftE 6 TR g i eee ot it |

Sahaj and Nimish are partners in a firm. They share profits and losses in the ratio of 2 - 1.
Since both of them are specially abled, sometimes they find it difficult to run the
business on their-ewn. Gauri, a common friend decides to help them. Therefore, they
admitted her inte-partnership for a 1/3™ share. She brought her share of goodwill in
cash and proportionate capital. At the time of Gauri’s admission, the Balance Sheet of

Sahaj and Nimish was as under :
Amount Amount
Liabilities Assets |
--

Capital Accounts : Machinery
Sahaj 1,20,000
Nimish 80,000 | 2,00,000
General Reserve
Creditors :
Employees’ Provident Fund

Furniture
Stock

Sundry Debtors
Cash

67/1/1 10
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It was decided to :

(a) Reduce the value of stock by < 5,000.

(b) Depreciate furniture by 10% and appreciate machinery by 5%.

(c) T 3,000 of the debtors proved bad. A provision of 5% was to be created on
Sundry Debtors for doubtful debits.

(d) Goodwill of the firm was valued at < 45,000.

Prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet of the
reconstituted firm. Identify the value being conveyed in the question.

OR

Prachi. Ritika and Ishita were partners in a firm sharing profits and losses in the ratio
of 5 : 3 : 2. Inspite of repeated reminders by the authorities, they kept dumping
hazardous material into a nearby river. The court ordered for the dissolution of their
partnership firm on 31 March 2012. Prachi was deputed to realise the assets and pay
the liabilities. She was paid ¥ 1,000 as commission for her services. The financial

position of the firm was as follows :

Creditors
Investment Fluctuation Fund
Capitals : >
Prachi
Ritika

Following was agreed upon :

Prachi took over investments for ¥ 12,500. Stock and furniture realized ¥ 41,500.
There was old furniture which has been written off completely from the books. Ritika
agreed to take away the same at the price of ¥ 3,000. Compensation paid to the
employees amounted to ¥ 8,000. This liability was not provided in the above Balance

' Sheet. Realization expenses amounted to I 1,000. Prepare Realisation Account,
Partners’ Capital Accounts and Cash A/c to close the books of the firm.

Also identify the value being conveyed in the question.
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PART -B

(farsita faawont =1 faveraom)

(Financial Statements Analysis)

19. ‘T fo<itg FEET gRT A9 S WA F 3T AFHE VA HE0T R T T Y TR
ThaTeetTy ¥ Sl Ha 2 1

Under which type of activity will you classify ‘Dividend received by a finance
company’ while preparing Cash Flow Statement ?

20. ‘T fRATRETY |/ WIS TS H 41 Aed 2 1

What is meant by ‘Cash from operating activities’ ?

21. famig faeren & favemor & o v tvg 51 SooiE ST | 1

State any one objective of Financial Statements Analysis.

22. s AfufEm 1956 F aRwiifad GROT VI & W | SFER fefy e § Rt o
[ 319 a1 SUVIYS &+ 3ia feEers s 2

(i) Ol & 9Es 9T ifgs:
(11) qﬁ mﬂ';
(iii) <9I 9 99 | 3

Under what heads-and sub-heads the following items will appear in the Balance Sheet
of a company as per revised Schedule VI, Part — I of Companies Act 1956.

(i) Premium on redemption of Debentures
(i1) Loose tools
(111) Balances with banks

23. (3 Tr=foEa g @ Frivier G0 e s F e S
% Taa T 1,30,000; 3uR faa T 3,80,000; fasa amat T 10,000 @ St
3 1,40,000; =] =1fae T 1,05,000 79T wiaar T 90,000.
(@) Fr=fefEs o= & o1 guar S it ToET S
ety weaferat ¥ 3,50,000; o1 %07 2 2,50,000; =1 3140 2 80,000. 2+2=4
(a) Compute “Working Capital Turnover Ratio’ from the following information :

Cash Sales ¥ 1,30,000; Credit Sales ¥ 3,80,000; Sales Returns ¥ 10,000; Liquid
Assets T 1,40,000; Current Liabilities ¥ 1,05,000 and Inventory ¥ 90,000.

(b) Calculate ‘Debt Equity Ratio’ from the following information :
Total Assets ¥ 3,50,000; Total Debt ¥ 2,50,000 and Current Liabilities T 80.000.
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From the following Statement of Profit and Loss of Suntrack Ltd., for the years ended
31 March 2011 and 2012, prepare a ‘Comparative Statement of Profit & Loss’.

Revenue from operations
Other Income

am 230000 | 935000
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WA ¢
a9 & IRA TF JeiH W e e 9o T 80,000 41, T 65,000 ¥ a9 & mr | ud
Traal W aw 949 T 2,00,000 BTE SET T4 |

g WA faaor AR $ieT | . 6
Following 1s the Balance Sheet of Wisben Ltd. as on 31* March 2012 :

I. Equity & Liabilities :
(1) Shareholders Funds

(a) Share capital 7,00,000 6;00,000
(b) Reserves and Surplus (Profit & 2,00,000 | 1,10,000
Loss Balance)
(2) Non-Current Liabilities
Long term borrowings | 3,00,000 | 2,00,000
(3) Current Liabilities |
Trade Payables 30,000 | 25,000
Total

II. Assets:
(1) “Nen-Current Assets
“.._4fa) Fixed assets
Tangible Assets

(2) Current Assets
(a) Inventories
(b) Trade Receivables
(c) Cash and Cash equivalents

Tou

Adjustments :

During the year a piece of machinery of the book value of ¥ 80,000 was sold for

¥ 65,000. Depreciation provided on tangible assets during the year amounted to
< 2,00,000.

Prepare a Cash Flow Statement.
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19.

VT -7

PART -C
(Computerised Accounting)

EE A ERS e 1)

SFieTT AGEFA T & 6T U &9 HT Jooi@ BT |

State any one advantage of ‘Computerized Accounting System’.

20. D THUE. F A OF Weaa H A T6Ed S AHS F AT H GEGd F ¢ | 1
Name any one DBMS software which processes the data in flexible manner.

2], WEYHS SREE H = AT E?
What is meant by Relational Database ?

2. Tl A TR W AN 997 2oTe |ieaaT et § 3R ST |

23.

Differentiate between generic and tailored software packages on any three bases.

Higaror i fafy goEmg |
Explain the method of ‘Codification’.

24, VAMTATF, T 7 Tq q o FHAES |
What is DBMS-? Explain its two advantages.

25. ﬁnfa’r‘aaqamﬁ(a) TEE T () Y Ao 91 (F) T F H AR H 0A F QT
W GF T AT HIAQ -

(37) mﬁqﬁaﬁ‘mqaaaqzm,ooowzo%a%u%wmmvzs%a%vﬂ|
(@) Y& 909 F [0 — g6 3o J Hems S S |
@) TWHFEC30%HTHATH |

Calculate the formula on Excel for computing the amount of (a) Dearness Allowance

67/1/1

(b) Net Salary (c)Tax Payable from the following information :

(a)
(b)
(c)

For Dearness Allowance, Basic Salary upto T 40,000 at 20% and at 25% above it.

For Net Salary, adding Dearness Allowance to Basic Pay.

For Tax payable at a uniform rate of 30%.

15

collegedunia:

India’s largest Student Review Platform





